s (ax+b)*=(ax+b)(ax+b)

Look these steps carefully.
If you can write an expresion

as(ax)?+2(ax)(b)+b?, you

can factar 2ag 2 Nnarfact canlarg trinamial
™ |

1581 y2+180xy+100 x>

2. rewrite

_2.rewrite , (91124 2(9y-10x)+(10x)*

(9y+10x)?

3 factor:

—
2 . Foil out.. 2 2
=0 (ax) +2(ax)(b)+b
1. factor X2+6X+9

2 rewrite (X)2+2'X'3+32

3 factor (X+3)2
Afactor, 4 %2 +20x+25

2. rewrite (2X)2+2(2X'5)+52

3. factor (2X+5)2

54x%-4x+1
25(2x)%+2(2x)(-1)+(-1)

factor (2X— 1 )2

2

L>x2+2xy+y2

(x)2+2(x)(y)+(y)
2

2. rewrite 2

= R,

3.

(x+y)

SN

x2—2xy+y2

(x)?+2(x)(-y)+(-y)?
25(x-y)?

2,

54x%2-12x+9
25 (2x)?+2(2x)(-3)+(-3)

35(2x-3)?

2

5 a2b%+6ab+9
25(ab)’+2(ab)-3+32

35(ab+3)?

4a’b?-20ab+25
(2ab)?+2(2ab)(-5)+(-5)
(2ab-5)?

IR
2 2
3,

Again, notice how this process relies on
being able to write something like

(expression )*+2( expression ) (another expression)+(another expression )’



